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Solving Sequence

2,7 3 6 8 4 5 1
A knot diagranﬂ C2 C6 cr C3 Cs5 1

Ideals for irreducible component#ﬂ)f Xpar

I = (u ' = 2u” = 30® + 2u” + 4uf - 3ut —u® 0 - 1)

* 1 irreducible components of dim¢ = 0, with total 11 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I = (u'! + u'® — 2u® — 3uB® + 24" + 4u® — 3u? — u® + u? — 1)
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aq = ud — 2u8 + 2u?
ud
as = \ud —ud4u
wd—ul+ut+1
a1 = \ gy — 248 4+ 3ub — 20t 4 w2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'® — 1208 — 4u” + 16uS + 8u® — 8u* — 8u® + 4u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €3, €4 ult — !0 — 60 4 5u® + 1207 — 66’ — 10u® —ut + 50 +u? -1
cs
C2,Cg w4+t — 20 — 3u® 20" + 4w — 3wt — P +u? -1
5 ult + 300 + 40”4+ B + 207 + 8ub + 8u® — Hut — 3w +u +4du+1
cr w4+ 5ut e 2u 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,€3,C4 gt =130 42y —1
Cs
C2,Ce gt =5yl 2y —1
Cs yll_y10++14y_1
cr y11+3y10+_10y_1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.959860 + 0.3513961

—1.63627 4 1.275411

—1.47945 — 0.800971

u = —0.959860 — 0.3513961

—1.63627 — 1.275411

—1.47945 + 0.800971

u = —0.488025 4 0.800566.1

9.03866 — 1.645931

8.04988 + 0.244811

u = —0.488025 — 0.8005661

9.03866 + 1.645931

8.04988 — 0.2448171

u= 1.11640

3.38257

2.18570

1.031510 4 0.5219131

—0.37669 — 4.750301

2.64109 + 6.776901

= 1.031510 — 0.5219131

—0.37669 + 4.750301

2.64109 — 6.776901

—1.081080 + 0.6317091

7.26485 + 7.022201

5.50054 — 4.886191

—1.081080 — 0.6317091

7.26485 — 7.022201

5.50054 + 4.886191

0.439259 + 0.5220381

1.289960 + 0.454766.1

7.19508 — 1.369571

u
u
u
u
u
u

= 0.439259 — 0.5220381

1.289960 — 0.454766.1

7.19508 + 1.369571




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1,€3,C4 utt — ut® — 6u® + 5ud + 1207 — 6u’ — 10u° — vt + 5ud +u? — 1
c8
C2, Cp ult Fut® — 20 — 308 + 20" 4+ 4 — 3t — P+ u? -1
3 ult + 300 + 4u® + B + 20" + 8ul + 8u® — sut — 3w +u +4u+1
€7 ut +5ut e 2u 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3,C4 ytt =13y 2y —1
c8
€2, Cg y't =5y 42y —1
€5 't =y 1y — 1
¢ yt 43y =10y -1




